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[ cos(2x+3)dx =sin( 2x+3) +¢

- ftrue.
+  False.

[le.f = Ciglic = ¢ [ flx)de=c, [ glx)dx

+  true.
- False.

-

i

The integral [%ﬂ is improperat x=2

+ true.
- False.

Isec:('ﬁx—ljxd‘f =sinx+c

- true.
+  False.

Isecf x tan* xdx = _[lf'[anJ x+1]|1_ tan® x.sec” xdx

m
J_,T v4+3sinx

+  true.
- False.

cos X

- true.
+ False
1 a1y
[ - dx=1sec” f+c
Tt =25
+  true
- False.
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[0 f (ode =2 4 ¢

n

1) - true.
2) + False.
9) . 1
l‘“tan x.sec” xdx = —
S0 2
1) +  true.
2) - False.
10) 2,
js&:c x(secx —tanc) = j ——sinx+c¢
1) - true.
2) + False.
11)
Suppose that f.and..g areintegrable and
3
[ fod=20. [f@d=12 and| g@x)dc=3
5
then. [ -2 f(x)dx=
0
a)=-24 b)=-34 c)=4 d)=—-16
1) - a
2) - b
3) - cC
4) + d
12) Suppose that f.and..g areintegrable and
If _[ Fx)dx=20...¢ f flx)dx=12 and.ji g(x)dx =8
then fﬂ [f(x)—2g(x)]dx =
a)=15 b)=7 ¢)=—4 d)=10
1) - a
2) - b
3) + ¢
4) - d
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a) =-35 b) = 12 c) =-3 d) =5
1) + a
2) - b
3) - cC
4 - d
14) .
The value of the JESBC‘ xdx
a)=12 E.:):V@ c)=-2+/3 dy=-2
1) - a
2)  + b
3) - c
4 - d
15) If f(x) is continuous on interval [5.+=,then Tf(x)dx 18:
a) = lim [ f(x)dx b)=lim [ f(x)dx
¢)=1im [ f(x)dx d)=1im| f(x)dx
1) - a
2) - b
3) - ¢
H [+ d
1
6 Thevalue of the j +x _dx  is:
2 6+ 2x°
a)=-5 b)=In() €) =In 5 d) =In¢)
1) - a
2)  + b
3) - ¢
4) - d
17) Theintegrationof | L
S34x"
a]=ﬁtan_1%x+c E:l)=tan_1%x+c
c) zﬁtan_lx+ c d]ztan"lx+c
1) + a
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- d

[The integration of jsec x(tan x + cosx)dx is:

a)=secx+c by=tanx+x+c
c)=secx+x+c d)=tanx+¢
1) - a
) - b
3) + ¢
4 - d
19)
The value of the [
[i] "-..14 x
__dx _ K
a) ==F b)=1%
_x X
=% d)=3
1) - a
) - b
3) - c
4) + d
20) J'sjﬂ2 2y.cos 2y.dy
sin’ 2y sin”’ 2y sin” 2y sin” 2v
a) — — —+C b) -~ — —+¢
7 5 6 10
cos 2y cos 2y sec’ 2y tan” 2y
c) - +C d) < — +c
8 5 3 5
1) - a
2) + b
3) - c
4 - d
21
) The integration of Je” sin xdx
a)=31e sinx—ie'cocxtc b)y=3%e"sinx+ie’cocxtc
€)=e" sinx+e'cocx+c d)=1e* cosx—e"coextc
1) + a
2) -
3) - ¢
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22) The trigonometric substitution for the integral of the function
fx)=+9-2x" is:
a)x =2sec£ b)x=%sjn€
c)x=Tisj11r5? a’)x=£taﬂr9
1) - a
2) + b
3) - c
4 - d
23) The integration of j(x3—15x2+4xjdx_is:
a)=x +2x +x+c by=1x*-5x"+2x* +¢
L5 a3 P PN
c)=x +2x +x+c d)=2x +2x +x+e¢
1) - a
2) 4 b
3) - ¢
4 - d
24)
The integration of jﬁdx
X
. 1 X
a)=sin" x++x* —25+¢ b)=———=-sec e
Syx’ =25 3
Q)= VI =25 ot Hae d)_ql" x-25 x"'+c
3 3 S T 5
1) - a
2) - b
3) - ¢
4+ d
25) The integration of j$ is:
e + 3¢ +12
a)=1é& —1In|cocx| +¢ by=1In|& +2|-1e +c
c)=1 ex+1+c L& é
e d)3 € cosx—é'cocxtc
1) - a
2) - b
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The substation of jcos"m’x is:

ajj (1—cos” x)° sin xdx b)j (1-sin? x)* cos xdx
r:)j (1-cos® x)* cosxdx d]lj(l—sinJ x)? sin xdx
1) - a
2) + b
3) - ¢
4) - d
27) The partial fractions for the fraction —, 2x+1 as sum of partial fractions
x°—Tx+12
is
9 7 1 1
a):x—4_x—3._ IE!J):x—E_x+2
oo 9 L Fxtd o2 4
x—1 x"+1 x—4  x°+3.
1) + a
2) - b
3) - ¢
4) - d
28) The integrationof [ 3% dx is:
) 35X
a)=3%.5In3 + C by=2— + C
oy -
32-. 33-&
C) = in3 tC d] - Sin3 N
1) - a
2) - b
3) - C
4) + d
29) 3 .
. The integration of jv{idr is:
Sax -1
a) =improperat x =—4 b) =improperat x=3
¢)=improperat x ==l d)= proper Vx
1) - a
2) - b
3) + ¢
4) - d
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1)
2)
3)
4)

The integration of _[

a)=1tan" x+¢

c)=tan x+¢

1
0 o0 o ®

-1
tan " x
1+x°

dx  is:

b)

tan™ x)°
_(an "
2
d)=1tan™ x+c

C
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